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' ECONOMICS

Paper : ECO-RC/HG-1016

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the guestions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wore R et s e fu

{a) What is scarcity?
wreqeel 7

(b) Mention the law of supply.
s R Beer 3 |

() What is cross elasticity of demand?

sfza St ffdrrrel f 7
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(2) | (3)

(d) Define marginal utility. () “A firm under perfectly competitive
‘ market earns supernormal profit in the
AT Tercafer s | long run.” ,
( Write True or False)
Can two i t ? |
., (e} Can two isoquants cut each other ‘ « T( ﬁﬁﬂ’lﬁ@w T I AP 49
TOTe I (I Fore TR A 2 (TS I oS we T 1
: | ' (351 & fawy forar )
() What is a production function? |
Tref T 2 | 2. Answer the following questions : 2x5=10
, woTe AT 2EPTRY Sed i
(g) “All costs become variable in the long
run.” o
( Write True or False) \ (a) Nlustrate the slope of a production
“BdeTs SRRl AR ARG = 17 | possibility curve.
(ﬁﬂﬂﬁﬂm) BeAmR AN ({41 GOEF BlE RN 90 |
(h) Draw the total fixed cost curve. (b) What do you mean by price rationing?
3¢ B I @O iR | Price rationing 3feicst f& q@1?
U lt\:f):;l:t?tiozne assumption of perfect {c) What is an isocost line?
o1 e b1 SfSqmeT e 7 ) o T 4 2
l
20A/558 ( Continued.) | 20A/558 ( Turn Over )

P



20A/558

(4)

(d) Mention the conditions of equilibrium of
a firm.

G TR ARDFR SR TSR0 SrE
7 |

(e) What is a shut down point?
o 37991 R B2

3. Answer any four from the following

questions : 5x4=20
oo fm e R o BiiRoR B foen
(a) What are the determinants of demand?
Explain.
iR e B 6 2 am

(b) Explain the concept of consumer’s
surplus.

OISR TFET 4RO IIRM F9 |

() Explain the Diamond-water paradox.

Qa1-s@1 R T 34 |

(d) Distinguish the concepts of economies
and diseconomies of scale.

TR fier o Sfiegfien RaEHR
N7 foran

( Continued )

(5)

() What is budget constraint? Draw a
budget line and explain its slope. . 2+3=5 .

ICEH 4 B 7 GO ;WHD @I TFA IR OR”
BF [IRA ¥

() Explain short-run equilibrium of a firm
under perfect competition.

§f afcaPeon wefe IeT ARPA 9w
ZHEA SIPTRrST I 79 | '

4. Answer the following questions : 10x4=40

wore fa erpigRa e f

(a) Discuss the law of demand. When does
a demand curve shift upward or

downward? | 7+3=10
Rw RAG wemen 91 oA @@ 9o
R el 91 woite A FR?

Or / q I

What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10

o W RfSreee R wr fdwez &
& 2 scawn F40 1
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(b)

()

(d)

20A/S58

(6)

Discuss how demand curve is derived
from indifference curve and budget
constraint.

e @ o W IR o[ R ok
31 Sferea =, AICEmA 0

Or / 591

Discuss the properties of indifference
curves.

fRTrs RIR TR e 4

Critically | discuss the law of variable
proportions. _

ARSI e RRGH S - TR
Rl 390 1

Or / 9

Discuss the cost minimizing equilibrium
condition with the help of isoquant and
isocost line.

TeeMA QY U T @R TS I
THRFFIR S 56 SALT 9 |

Discuss the long-run industry supply
curve under perfect competition.

of. afécafiren Somem WA Q@I @
ST ¥4 |

10

10

10

10

10

( Continued )

(7)

" Or / 9T

Explain how resources are adequately
allocated in production under perfect

competition. 10

§f eforaiers TeAFHe TP TGN
fReqq R =, AWM

% % %
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